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The figures in the margin indicate full marks
for the questions

1. wm Tebl R Sereq/oe fal Rpz Tl
fer - 1x8=8

Choose the correct answer/Answer the
following questions :

(a) SARSFR T2 G 2
The primary problem of economicbs is
(i) ME TS 3G

the efficient allocation of resources
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(b)

()
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(2)

(ii) =R foarawaq
identification of wants
(i) SR WO AR
greatest possible satisfaction of
wants

(iv) TR ST

problem of scarcity

S FPRATS! @3 SRHRe @hd 7'

The production possibility curve
involves the combination of

(i) <01 AR F 9B TAM

one commodity and one factor
(i) o1 STt

two commodities
(iii) B! A S o1 oA

two commodities and two factors
(iv) o1 ST

two factors

quE oA @ SE T R BIEaE
Efogreel el it {78 9ot e |
Draw a demand curve whose elasticity

of demand is greater than zero but
less than one.

( Continued )

(3)

(@) 3 o fote Rfogree e = =,

(e)
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(O3 TARY TE

If the cross-elasticity of demand is less
than zero, then the goods are

() R
complementary

(i) sfeFs
substitute

(iii) =PTIRFe
non-related

(iv) ST «bre T

None of the above

foRTer® @1 YRECoT 3 TS T |

The indifference curve approach is
associated with

(i) e
Marshall
(i) g
Pigou
(iii)
Hicks
(iv) 3
Keynes
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(4) (S)

(0 oFFS I Tt o2 ‘ (b) e W R
What do you mean by real cost? ' Determinants of individual demand
(g) ORI TERS (FOR AN e (c) dMCEG AfeTHD
In monopoly market, the number of Budget constraints
buyers is
(i) q&= (d) 947 PR ST ST
one Equilibrium condition of a firm
CUais fe) TR BReAMHARITS!
R Productivity of an input
(i) T
few
(iv) =PRI T SPPTTRA Bed fordT (&if Sttt 500 = fsewe)
large Answer the following questions (within S00 words
each) :

(h) T BiRRAR e g |
= 3. (a) Tz & S SR 9 @es 2 wdafes

Define derived demand.
IR Rfed domemz ARm 4 | 5+6=11
Why should people study economics?
2. o MIRRT R @ sifReR 5y o= o Explain different types of economic
(afSTo1 150 =R foege) - 4x4=16 system.
Write short notes on any four of the followin o
(within 150 words each) : ¢ (o
(a) SLAST =T MaEe b Tl o
PR wflfs R A oeerR SgE fewr
General features of economic model I 40 2+9=11
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4. (a)
(b)
S. (a)
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(6)

What are the main goals of micro-
economics? Explain various types of
microeconomic analysis with suitable
diagram.

o T RfRrRe, W R e
fofe Rfbmrrrer M2 I w911 Brgen
TRA WS FAF W, T T 9+3=10
Explain the concepts of price elasticity,
income elasticity and cross-elasticity

of demand. Describe their uses in
economics.

<1 /Or

ST oifdT SR W T SR e
ﬂ@ﬁ‘i@lﬂ&ﬂm%ﬂﬁﬁw!&?
o Rf b1 fewy a1 | 3+7+2=12
Distinguish between individual and
market demand schedule. Why does
demand curve slope downward? Write
two exceptions of law of demand.

aeors @1 &2 P @mﬁﬁwﬁﬂw
o= 371 249=11

What is indifference curve? Explain

various properties of indifference curve
with diagram.

( Continued )

(b)

6. (a)

(b)
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(7)

24T / Or

o R wre afees Rees s o
FefT 7@ we [g8 @R Fqe R [
e =, TR0 A o

Define income effect and substitution
effect. Explain the income effect in case
of normal good and inferior good.

e fiegfer 2 =@l feafer @@

wfsafier fFdRT 391 [ifen IRPHR Sr=IPr
E{WWl 2+5+4=11

What are economies of scale? Explain
briefly about various factors leading to
economies of scale and diseconomies of

scale with examples.
{1 /Or

T FeER ven funl e TR R
o1 W PR W ARITYA
:::Sﬁwwl 1+5+5=11

Define cost function. Explain various
short-run cost concepts and show their
interrelationship with suitable diagram.
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(8)

7. (a) RSIR AIfEF SRSl TGOR STACEDAIE
I SSRCEHT | 11

Give a critical analysis of the marginal
productivity theory of distribution.

9341 / Or

(b) =TT SIfEM W @6 ciRaea s [fen =nfds
e S-S SAMPER I F61A_
e @am @ 9 e e &
PO T2 0 0 8+3=11
Describe about the economic and
non-economic factors on which changes
in the demand for and supply of labour
depends. Why does the individual
supply curve of labour become
backward bending after a certain point?
Explain.

* ok
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